(B=1)

[#Z Y —BHRBOHIKEA= 21— 24 REIMER miEr®| KicHr
ik Lo K. ULE, b, B, 45, . hBT. #h4, 3= b
k3 & B2 4 ey | EM4
UOLZEZEATIFA * 70| K#CET
E 35
EA 20
i 2.5
L&OKP 1.2
IZALA 10
ULE 25| =ZE1R
RE JI=ZER
L&OM 1
500 20| KHCHET
18 0.2
3 2
B3 DR A Y FORBEDOHRASE) L&SK 6
REEBOSEZERENEHHULE IO HHE L z i
BEREEESALAICENEL, £ Tt KB ETHE 4 -
ZTS—S L EHEAL, SEREDLDAZ{AETNDLSBT i 2
EERLELT =, J)oE—2R 2
) = 200| KHCHT
HESAYAHZH HHS 05|=E R
TRy 30
IZALCA 10
ik 1vg 5|=ER
Cehirg 30
ZFL 3
HZ 8
HFMAI—T ILE HH A =R
3—45 )Lk 40| KACET




